£ %;SUQJEQT’::I. ;é
COMMERCE

APSET 2014 Question Paper for Commerce

Paper

s

E-R

Ik b”* 2] :.
kTRl =g

IMAXIOMIBARKS * NUMBERIOF PAGES.

:Il_ ._.i.lfJ. 1 &rjl ] LE

-} /QUESTION BOOKLET NUMBER

501325 i

1

'NUMBER OF QUESTIONS . .

100

1 HOUR 15 MINUTES |

24

50

This is to certify that, the eniries made in the above portion are correctly written and verified.

Name and Signature of Invigilator

L h

® N>

Candidate’'s Signature

Instructions for the Candidates

- Write your Hall Ticket Number in the space provided on the top

of this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet will
be given o you. In the first 5 minules, you are requestedto open
and mi
(i) Tohave access to the Question Booklet, tear off the papear
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.

(i) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
ot 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Tes! Booklet.

Each item has four alternative responses marked (A}, (B), (C)
and (D). You have to darken the circle as indicated below on the
correct response against each item.

crampie: ) © @ ©

where {C) is the correct response.

Your responsestotheiterns are to be indicatedin the OMR Answer
Sheet given to you. If you mark at any place other than in the
circle in the Answer Sheet, it will nol be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable 1o disqualfication.

The candidate must handover the OMR Answer Sheet to the
Invigilators at the end of the examination compulsorily and
must not carry it with you outside the Examination Hall. The
candidate is allowed to take away the carbon copy of OMR

Sheet and used Question paper booklet at the end of the
examination.

(iiE)

. Use only Blue/Black Ball point pen.
. Use of any calculator or log table ete., is prohibited.
: Thuru IS no mgatlvu marks for incurreﬂ answers.

"'l |l-.-‘|i-n‘.|"'- h‘i‘
p b i .1'
o S

BRSPS A i e
e, x ”}""] {I I vL 'l""'* ‘.:lh.umh{i.ll tlﬁiﬂl."ql} k ".\_:-.ﬁ'iu

1.12.
Xy xﬂc.n,,.,rt,'gbag::& o i a1 f;‘ ,.
it hl.-lﬂl‘]a-.

l_

1.
2.

10.
11.

eRtous SIS
Be Ho p s’ gumpmds Becd” Iy 3 (J%S Sonk orabod,
B (U DIBH00 g LRI SHhui $OR dob. :
50% rdosms S PTGt o gimcasond. Ind nh g
DDoEied e SThSBtte D00 3ou BBLY voTruts BHwHOM &
ROuMsEed.

(i} oo % Sosuon drasDd ©bhe woies ;.;s& SAGY hesss ;
Dotbod. 6.5 beodld Dobatn 38508 BOY iy PTENBEOLD €
Lt mﬁﬂﬂﬂﬁéﬁg S

wd P Bolh BArTYc Ee t BhBpind'n hdo &
Regpis Bolcia (B Boggss sasTaed. Lde RePE @
Rowofed nv Bor Br0eD Sow B B Uoe Deps b
e Bor e RRBGoE B do :t:.r., Sorwotion €
Hod Mﬂaﬁmu 5% BiErTy dewd m ot JRedng’ whge G
'ﬂtséf.;m%aaﬂ 20 CA extioen SO G (R SE'd. 8
BEDOBES (S HE0 BPhE: LiEy Shedie HpEs. :

» Dijorr SHUMLETY Bod Eysie deagiie OMR S 3 €
H&Iﬁwmﬁ.}m MORD & TR Fag:‘gmé‘mm 3
e SR Treois BorEmal Eamostes (A), (B, (C) mubats (D) §
QT Fptiroon. SN0 0N 8o m.q_:ﬁ'“ S0 LN Jgior €
OMR aps5:08 2o T Tosgt Rispes Sreurs :jﬂﬂ“rﬁ* T

(i) ssd

(i)

S eEN or S0 Sy o8 osscef ST dos BELS Jcem S
arlomrd,
GEmmGrs | @ . @

(C) 523 B0 eond

e Edhoddels S PESsod ads OMR Sk
Figudn Syond Jrood O8eTrd, wereE SEIE Sitop S6Y
L8 o Pdnetd fareoic Do,

A OB E%e gy Ardtol g™ SG30d.

LGS0 ESB5L U6 3y sipennd” Sard. :
OMR Sigso D88 dood’ irlotiels DS Blnol 3t jucd” 8
& QoS a&i::}r:-m 2o e oraitito el Sor 300 LRy Dexko g
el Brstgond o eHgss 28 erdugeihords,
SEE rtiosss 5o B OMR 5, B35, D0 by sy Suas e, :
T30 SHE MO pakher SRR, 38E M oS BT ¢ 2 §
3% 3%, OMR S dus, su:i;,@. Sa) SRndidesty,
WO [Se Bolt erE Soased ‘..,5 srEls asarieTd. :
PHBgms Sy, TBiaBibus, JoPit S0smes Totenud sS5Tadt §
SBArRouEs :Ji:;a
Bl DAoLt

i :-

(L] ﬁﬁ:;‘_'j

‘L‘i'{n

o

ll-.-l lt-i- 'I-}l-

£ A03:029


http://careers.aglasem.com/
http://careers.aglasem.com/

R B A T

AglaSem Careers

COMMERCE

TPeSEg00

Paper-Ii

1. The process of exploring the strategic
implications of global warming is best
described as :

(A) External Environmental Analysis
(B) Scenario Planning
(C) Future Forecasting
(D) PESTLE Analysis

2. Assertion (A) : Growth over time is
an economic
objective for all the
enterprises.

: It is not necessary
for the business to
grow bigger, butitis
necessary that it
constantly grows
better.

(A} Aistrue butR is false

(B) Both A and R are false

(C) Both A and R are trueland R is

the correct explanation of A

(D) Aisfalse and Risitrue

3. Gilobal sourcing is needed for
i) improving the productive
efficiency
ii) increasing inflow of FDI
iii) reducing the purchase cost
iv) increasing the import of human
resources
(A) iand iii
(B) iiandiv
(C) ivandi
(D) i, ii and iii

Reason (R)

20 =1l

1. FadT0ph Jreris s srissess
DDAEROW EIECH 38,0 98,1 5HEBOD
G50
(A) 220 Soegstes e
(B) ¢yd; 2505 Perddsses

(C) 258 Sovotozmiy
(D) PESTLE 2556

2, ooEsi(A) Tmﬁ%@i&ﬁoﬁo
290K &S0

el oS bgen
NS eaidto D
5°% S0 €063 aoor
50 Dord

(A) A 50616 R 5001059 56

(B) A 580 RBotir 56absds™y

(C) ASobaxo RBor $83H

R, A dlog) B8 D588
(D) A $8cAbnd s R0

$8eas52 (R)

3. FHoDE 55056 05 T8 esido
) &8 I00g s Jothirdese
i) FDI & Faese 2t
iil) o en Ssao Boe
V) 5507555 55800 BX080H oo
(A) i BoBa0y iii
(B) i B08axw iv
(C) iv00axw |
(D) i, il So80x%w i
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(A) 1-a 2-b 3¢ 4-d
(B) 1-¢c 2-b 3-d 4-a
(C) 1d 2-C 3-a 4b
(D) 1-b 2-C 3-a 4-d

. What is the target that has been fixed

RO
4. Match the following : 4. 228560050
List-l(Committee)  List-li (Purpose) Do (5203) eIl (65350)
1. Mahajan Committee a. Pension )
o 1. Soisfesd £0ed a. IS SEES0
2. edRELS 5Ll b. &Fse esrs
2. Abhijjit Sen b. Longterm NS5
Commitiea food Fokey 3. 2.2.9¢ e J €. ),65508:50
3. Y-V Reddy c. Sugar 4. 53508 d. eTand
Committee Industry 539 686
4. Dave Committee d. Review of SREROEN
Income Tax
rebates 1 2 3 4
1 2 3 4 (Aya 2b 3¢ 4d

B) ¢ 2b 3d 4a
(C) 1d 2«¢ 3a 4b
“D) -b 2¢ 3a 4d

5. 27t D=5 2020 &° 245 Lorto Ter

for service sector share in GDP under 0TCED
“India vision -2020" ?
(A) 12 (B) 35
(A) 12 (B) 35
(C) 46 (D) 525 (C) 46 (D) 52.5

. The practice of appending notes
regarding contingent liabilities in
accounting statements is in pursuance
to

(A) Convention of consistency
(B) Convention of conservatism
(C) Convention of materialism
(D) Convention of disclosure

6. esfoBo¥ edyeH Dowodod aocsdch
TS Feayysd 20 54§00 T3
SR 07OEIOTT 23CDIB000
(A) Dot Fosarono
(B) wisores oo
(C) Sardoss Jropdorobho
(D) edrgso 3% JoEscrano
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7. Cash Flow statement is : 7. SK5 Fo JAOE endir

Statement-1(S1) : An estimate of cash 250 -1 (1)1 2.8 Dy DS

receipts and
S, D80 e

payments during a ¥
given period of time Botss TEe-2 (S2) : s ©F oedoR 553

Statement-2 (S2) : Based on accrual et o
basis of accounting

(A) S-1, S-2%csr T3S0
(A) Both S-1 and S-2 are correct
__(B) S-17%50, S-2emgdo

(C) S-1ewgs0 S-2a7%0

(B) S-1iscorrect and S-2 is false
(C) S-1isfalse and S-2 is correct

(D) Both S-1 and S-2 are false (D) S-1C$-200cr eigso
8. Match the following Ratios : 8. 591300 Agthyono eBSGEos
1. Current Ratio  a. Netsales/ 1. S8 58 a. 56 esysen/
Current Assets Sorigeo
2. Acid Test Ratio b. Current Assets/ 2. ordEHOEINS  b. Somgmo/ 56
Current
Liabilities

3. BE0red B ¢ ¥ esysen/
3. Working Capital c. Netsales/ 5

Turnover Ratio Inventory a3 agoead
4. Inventory tumover d. Quick Assets / 4, b ebyd  d. 3o espen/ 58
Ratio Current o
Liabilities

(A) 1-c, 2-a, 3-b, 4-d (A) 1-c, 2-a, 3b, 4d

(B) 1-b, 2-d, 3-a, 4<c (B) 1-b, 2-d, 34, 4<
(C) 1d, 2-b, 3¢, 4a (C) 1-d, 2-b, 3¢, 4a
(D) 1-b, 2-a, 3-d, 4 (D) 1b, 2-a, 3¢ 4
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9. What is the amount of average stock,
if sales are Rs. 4,00,000, stock
tumover is 10 and gross profit is 25
percent ?

(A) Rs. 40,000
(B) Rs. 30,000
(C) Rs. 32,000
(D) Rs. 25,000

10. The marginal cost equation can be

derived as follows :

a) Sales = Variable cost + Contribution
b) Sales=Variable cost + Fixed cost
¢) Sales =Fixed cost + Profit/ Loss
d) Sales = Variable cost + Fixed
cost + Profit/ Loss
(A) ‘a'and b’
(B) ‘@’ and ‘¢’ S
(17 [y &
(C) ‘b’ and ‘c Q}@
(D) ‘@’ and ‘d >
G
11. Change in cost brought agﬁ by the
changes in pmducti{@ ocess or
activity is known as
(A) Marginal cost
(B) Sunk cost
(C)} Incremental cost
(D) Opportunity cost
12. Slope of a curve is also known as
(A) Marginal
(B) Derivative
(C) Intercept
(D) 1&2

AglaSem Careers

AU R A

9. eSS0 & 4,00,000, § 835610
000X HPe ere¥o 25% excood B T
o ?

(A) &>.40,000
(B) &.30,000
(C) &».32,000 - -
(D) &.25,000

10. &dos 3500 32080 Bs §od desorr
DyiByno DoSBY
a) eysTe =13855000 + S0ty
b) ey = 58355050 + B0100
C) R0 =Godo0o + &g/
6@;%;&3&9‘& ==.‘i=d§g$>of ;‘gd:ﬁﬁn‘.ﬁu
+ g0
O}Q"m} A’ Hoda b ¥
077 (B) ‘@ sodax ¢
(C) b’ b 'c’
(D) ‘&’ S080x ‘d

. Gt S8 Soe o0 S0 Sobos
RENSAS
(A) &droth Sgavo

(B) o€ 00
(C) =00t 35000
(D) etz Ss0
12. O 'Tren' 50 B4 o Sra° DIySE
(A) &ots
(B) @83e3sS
(C) zoebny
(D) 1508w 2
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13. Which of the following statements 13. 5120806 98 (99) o 5o
isfare true ? ¢ émula “33:25
1. Demand is elastic at higher 1. R8G558 TED A3l
pric 2. &30k B X epdd SsroBson

2. Price elasticity of demand is &ot3 &S50l Aoy, 6 E DG

zero when demand curve is

horizontal to ‘X’ axis
3. Demand is unitary elastic when

MR is zero

4, Price elasticity of demand is ‘o<’
When demand curve is vertical

e

3. MR #3208 ddroh TE us0

5y

4. &370E e X gl

éagqsoﬁ“éoeﬁ,

G370l ETE DE0 oe !

to X-axis. (A) DD =%
{7l £NGTS (B) 1 :30a%0 3
(B) 1&3
(C) 2 SoBoxo 4
(C) 2&4
14. Assertion (A) : As more units of a 14.C58T50 (A) @ 386 3deIose R
variable input are . QAT Gow, IO
used with a fixed € e;
amount of other inputs, VYL IrIGSS
after a point a smallér ) ST &HAFAY, &8
and smaller retumrwill
Sl Qﬁwm e
accrue tg ,”each i
additional unit of the BE QNI BEYS
variablg input AP ST
Reason (R) : This occurs because 5 ;
each additional unit of (R) ? 0 oD B0 A0,
the variable input has BOTRE 3PS S
more and more of the B0

fixed inputs with which
to work

(A) Both (A) and (R) are correct
(B} Both (A) and (R) are incorrect
(C) (A)iscorrect (R) is incorrect
(D) (A)isincorrect (R) is correct

(A) (A)(R)eoBotir oo

(B) (A)(R)evBotr emigso

(C) (A)=3%0 (R) w30
(D) (A)emmgso (R)zgso
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15.

16.

17.

Match the following :

1. Perfect a. Differentiated
competition product

2. Monopoly b. Iron & Steel
3. Monopolistic ¢. Unique product

competition

4. Oligopoly d. Homogeneous

product

(A) 1-c 2-d 3-a 4-b
(B) 1-d 2-b 3-c 4-a
(C) 1-d 2b 3-a 4-c
(D) 1-d 2-¢ 3-a 4-b

Correlation can not be studied
between

(A) Production of cereals and their
imports

(B) Supply of sugar and its prine\Q)QJ

(C) Fathers and Sons (:b'

(D) Production of suga@ ‘and
Motor cars @

If an increase in a variable is always
followed by a corresponding
proportional change in the other
related variable, it is

(A) Positive correlation
(B) Negative correlation
(C) Perfect correlation

(D) Perfect negative correlation

&

{

>
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| B A R
15, esho00%5w

1. Sorgded  a. 50005 5%
2. JEIydogsn b, ol égy,

3. Dxdysoged . DBZSND

4. exro¥ Jpogioo d. SRS S0

(A) ¢ 2d 3a 4b

(B) 1-d 2b 3-c 4-a

(C) 1-d 2-b 3-a 4-c

(D) 1-d 3-a 4-b

16. B8 QIO T gk 000
CHANHSSD

o
D) (A) Sy @6yg 50 Brsston
(B) m.‘f){g@:ﬁ‘ﬁﬁﬁ -
(C) soen E¢®Hen

(D) SosTE&nd, e SEesd

17, 25 507085006 M0G0, S8 0ol
S0P0E5008° 550N @00 STy
HOI0 =OAS T

(A) fﬁiﬁ"éag e raOt0G0 esodinly
(B) 20078 S5 boeodio eotixth
(C) RO S0L050 SOt

(D) D0 eaoeTis Sirdonotio
ZlelatTed


http://careers.aglasem.com/
http://careers.aglasem.com/

G L G
18. All dots on Galton Graph lie on a
straight line. Then correlation is

(A) Perfect
(B) Direct
(C) Inverse
(D) Unity
19. The path to display the VAT amount
paid by the company is

(A) Gateway of Tally— VAT
computation — Display — Tally
reports

(B) Gateway of Tally — VAT reports
—» Display —» VAT computation

(C) Gateway of Tally — Tally reports
— Display — VAT computation

(D) Gateway of Tally — Display —

Tally reports — VAT computation

20. Splitting a window can be done by
(A) Click file — Custom —(Split

(B) Click help — Window — Split

(C) Click format —View — Split

(D) Click view — Window —» split

21. To safeguard this management

principle of Henry Fayol gangplank
method is used

(A) Unity of command
(B) Unity of direction
(C) Order

(D) Scalar chain

AglaSem Careers

18. e rHE o Sofeo af Hdpd’
EOLTPO0) SIETICL) KTPRORIOGNL
(A) SoFrgsw
(B) @S0
(C) &S558
(D) ds¥gso

19. £oWR o0 Doty VAT Jaogsoodo
©6By0w0 O3
(A) Gateway of Tally — VAT
computation — Display — Tally
reports
(B) Gateway of Tally — VAT reports
~3 Display — VAT computation

) Gateway of Tally — Tally reports
— Display — VAT computation

(D) Gateway of Tally — Display —
Tally reports — VAT computation

20. 52 d0b T3S window B Jeielonnsd,
26
(A) Click file — Custom — Split
(B) Click help —» Window — Split
_(C) Click format — View — Split
(D) Click view — Window — split

21. Be WgTer IOy SLoBE D
arrS-rroh 27708 SEA ESATAIXD

(A) estvd D550
(B) Jgssmr 80
(C) &0

(D) erth Feod
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22. Power is characterized by

i. Quality of the person
ii. Non-delectability
iti. Good definition

iv.
(A)
(B)
(C)
(D)

23. Assertion (A) :

i and iv
i and il
iand ii
iii and iv

Reason (R)

de jure concept

The market researcher
does survey and
advises marketing
manager for new
products.

. Staff authority means

the stick carried in the
hand for direct

command over
subordinates. \Q,

(A) Aliscorrectbut R is wrun%(b'
(B) Both A and R are cor Q\ ’
(C) A is wrong but H@rect

(D) Both A and R are wrong

24.
derivation

(A)

Arrange the following in order of their

Vision, Mission, Goals,

Objectives, Strategies

(B)

Mission, Vision, Objectives,

Goals, Strategies

(C)

Vision, Mission, Objectives,

Goals, Strategies

(D)

Mission, Vision, Goals,

Obijectives, Strategies

S

&
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22. ¥58s offToR Gotod

i

i.
il
v,
(A)
(B)
(C)
(D)

23. Tponersse (A)
S

~ (A)
(B)
(C)
(D)

35§ oo

eaf¥S Y (SBETER MHeo

20w JERIO

00 G

| 20boXw iv

| Sobay iii

i 508050 i

il So8ck iv

530,80 555“&5&&,

Sogah £'8 SiHpep
S0 oo
RORFOIL

O

: 5;5,': wHsrdo esne
S8 SI0& BNS
aSsony WEIo
LEPCI0WE)

A 3809 R 981 5960
A 58050 R Bodr HSBasd
A 2506305 565 R 5061098
A 508050 RBodr 566150 %9

24, B+ D05 TV Ted  &dyHBN0 wed
E5008° sovtod

(A)
(B)

o

(D)

DD, WS, OFTFLY, GroXTen,
PrgTten

NS, e, 3ﬁﬂi?ﬂ.}, S50,
SN)RISESE
e, WDS, PONre, BFTwo,
N)RTHACS

B, S, OFTFOV, PsoXren,
S
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25. Match the following theories with their 25. Ba QIS wrpomredy T EAIBoD
proponents TO8 asnsdod
.. Need hierarchy  a. Alderfer . & rod), vrosnn a. Alderfer
theory

li. Godh et ?\:@o&mb* Victor Vroom
. esBoilo DOPeBH c. Herzberg
iv. ERG hcg:oé::m d. Maslow

ii. Two-factortheory b. Victor Vroom

iii. Expectancy theory c¢. Herzberg

iv. ERG theory d. Maslow

(A) i-a ii-b jii-c iv-d
(A) a ib - dii-civ-d B) b iia  iiid  ivc
(B) i-b i-a  iii-kd v (©) i-c Ba §i-b  ivd
(C) i-c ii-a lii-b iv-d

(D) i-d li-C li-b iv-a

(D) i-d ii-C ii-b  iv-a

26. ‘Safer driving saves your family’ is a
slogan used by government to create
awareness among risky drivers. This
slogan belongs to : \O

' (A) S50y el0h
(A) Gre.en markeflng ,&6’ (B) 2¢5:50°0),e30R
(B) White marketing < (C) o 555“;3?5&&305

, L2
(C) Environmental marketm(gfb’g ) £ 552,430
(D) Social marketing $

27. Which of the fﬂllnwi@ﬁ examples 27. 54 O 007 w0 50°0),630M050 GO
to marketing i T Sofy
i. Customer satisfaction b BoeTSS
ii. Coercion
iii. Exchange W S
iv. Self-production Iv. Sgatbo &
(A) iandiv (A) i B080%0 iv
(B) ii and iii (B) ii 308axw iil
(C) iandiii (C) i BoBaXw i

(D) ii and iv (D) i S08a» iv
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28. The new product development

29.

process consists of the following
steps :

(A) ldea screening, Concept testing,
Idea generation, Product
design, Product testing, Product
launch

(B) ldea generation, Idea screening,
Product testing, Concept testing,
Product design, Product launch

(C) Idea generation, Idea screening,
Concept testing, Product
design, Product testing, Product
launch

(D) Idea screening, |dea generation,
Concept testing, Product testing,
Product design, Product launch

Match the following :

. Pull type promotion a. Directed at ‘Ibg)

dealers anc(f) '
sales f
ii. Push type &mg
promotion nsumer
giving
|ncennues
ii. Advertising c. Oral
presentation
iv. Personal selling  d. Non-personal
presentation
(A) i-b ii-a iii-d iv-C
(B) i-a li-b jii-c iv-d

(C) i-b i-a  ii-c iv-d
(D) i-d ii-a lii-b  iv-c

AglaSem Careers

28. £¢ 53 eD5)R HEANS & BB

CHEBO0LT0)

(A) 88’55 28cgene, ram 98§,
5T ST, Sy eE8, sy by,
57y rdoeio

/(E} S&"IT &THET, BSIN 2B
ey, B3y B0, e H8g Sy

S5S, Sy oo
(C) aﬁ‘ﬁméﬁgﬁé.eﬁeﬁ“ﬁﬁa@‘éﬂgﬂ.
e 90§, K5y ea)® 51y 90 5%y
rogo
(D) w8 58062, 965 5T STV,
i b, g 36 553 9,5
@f
qgfsamm
I DEEEH BATSS A dod, ey
&E s 08D
JSBoRE0
i DACEY GEATH b, FEpredinw
Sk
DSATNTEOR
(230D0%
i, oEeSen Cc. 855
(RS
iv. 5581 eibogo d. SEnSBtIBess
(A) i-b ii-a iii-d iv-C
(B) i-a ii-b jii-c iv-d
(C) i-b ii-a Hi-C iv-d
(D) i-d  ii-a iii-b_ iv-c
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30. The discount rate, which equals the
present value of future cash inflows
with the investment of a project, is
known as

(A) Payback period
(B) Average Rate of Return
(C) Internal Rate of Return

(D) Profitability Index

31. An increase or decrease in the

amount of debt in the capital structure
has no effect on the total market value
of the firm under the

(a) Netincome approach
(b) Net operating approach
(c}) Traditional approach

(d) Miller-Modigliani approach

(A) ‘a’ and ‘b’ &6
(B) ‘b’ and ‘¢’ &Q,QJ
(C) b’ and ‘d' O‘Zr

(D) ‘a’and ‘¢’ @

QO

32. ABC Limited issuest5,000, 8%
debentures of Rs.100 each at a
premium of 10%. The costs of
floatation are 2% and the tax rate
applicable to the company is 60%.
The cost of debt capital is
(A) 2.26
(B) 2.46
(C) 2.96
(D) 3.26

>

S)
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30. 255 SeS BTte (ER06 Dewsio, RE

VPG B30 T A, 065 B
(A) 2erfsrec

(B) :5iex Trexds Bexs

(C) wositoadTto

31. 59 0B TN Pt Boredss Jogod’

HE0 IS B BKYS eSeso Soi JoP
SIT)e3 D0 P 2 PEFH0 S0 2
(a) mgﬁo@o:b Sog®
(b) et esi58e30R ot
ORI Horr
\’0‘6(":!}
(A)
(B)
(C)
(D)

2eb-3TGAKT) o5

‘a’ Soba¥n b’

b’ S8y ‘¢

D’ S0bon 'd

‘a’ 2odo» ‘¢’

32. ABC &. o7 8% d8oieh o8 S8l
82100 JeoosKed 5,000, 10%.5avawo
2270 D, 20 550100 2% K08 58D
3359 8620 80%. ora Soredss 9500

(A) 2.26
(B) 2.46
(C) 2.96
(D) 3.26
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33. Assertion (A) :

Reason (R)

The term working
capital represents the

amount of funds
invested in current
assets and it is
referred to as gross
working capital

. Current assets are
those assets which

are nomally expected
to be converted into

cash within an
accounting year

(A) Both ‘A’ and ‘R’ are correct
(B) 'A’is correct and ‘R’ is wrong
(C) 'A’iswrong and ‘R’ is correct
(D) Both ‘A’ and ‘R’ are wrong.

34. Alexander of Leighton enumerates

five major determinants of morale
which are

(o

(A)
(B)
(C)
(D)

\
_ e <
Confidence of the m-::hwdu&@
members in the purpose of ftie

group $ .
Contidence of th ifferent
members of the up in the

leadership and the ability of the
leadership

Confidence of the individual
members in their fellow workers
Organizational efficiency

1,2,3and 4
1,3and 4
1,2and 4
2, 3and 4

D

AglaSem Careers

I A
v WORITOGERNTT 5895
e’ Degad 0
3xgo O Jre

33. JBTEo (A)

wiaaredidonr L£roe
X0

=iese (R) D BT 8 e oedoh

DoS B God SNGSom
Ve fatine
(A) ‘A, ‘R' Bokr %0

(B)

‘A’ 3350 'R’ earso

(C)
(D)

st

IAI
I.Al

N

‘R %0

BOGT L0

34\@@:55 S5 9BX 1A (Morale) 3 Soogs
(0.0.) TSR BOTED e

1. S5005e Gotbop Sy Seieth o
Qe

TaiEEs, TANESg G 50,
RIITT TAEE g TB5G 50
DBITFTOE DI Dadgese Ko
DS0TeS

DTS00 [ Mo NP
Dy g 5

(A)
(B)
(C)
(D)

1, 2, 350800 4
1, 3 508w 4
1, 25080 4

2, 3 5086aw 4
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T AR
35. Under training and development the 35. 3, 0B o, SIS SHe g9
human resource system covers SENEAODE
(A) Job design and evaluation (A) eeS rssons, SO0
(B) Recruitment and selection (B) BireSoces, wogs
(C) Training and development (C) e, By
(D) All of these (D) w39
36. Match the following
36. eBNSb0G:
Part-A Part-B
{Functions of (Main A >5-B
personnel function) (@’3135 DS a@m) (:mu 5'-“5-")
management)
a. e IO 1, S5 SHde
a. Management 1. Human g
function resource ' | PETVSECE?
planning b. o328 2. P OHBRL
b. Advisory function 2. Advise the |+ e
departmental
officers C. SFIGIEDD 3. @000,
c. Executive function 3. Appointment éﬁgﬁﬁw
of labour and o080
employee d. JobEdd 4. @
d. Selection function 4. Personnel serodse
planning
$6,: @ () () (@
Codes:(a) (b) (¢) (d)
(A) 2 3 1 4
(A) 2 3 1 4
(B) 1 2 3 4
(B) 1 2 3 4
€ 3 1 > 4 ers 1 a2 4
D) 4 2 3 1 D)4 2 8 1
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37. Match the following :
Part-A

a. Elmar H. Burak

b. Smith and 2.
Walker
c. Richard 3.
B. Frantzerb
d. Douglas 4.
B. Gehrman
Codes:(a) (b) (c)
(A) 1 3 2
(B) 1 2 3
(C) 3 1 2
(D) 4 2 3

1,

Part-B

Strategies for
manpower
planning

and
programme

Business
planning is
people
planning

Human
resource
planning —
forecasting
manpower
needs

Objective
based human
resource
planning

(d)

S

37. 5+ oD TN eedttod

3 — A

a. Jfsrb H.zooE 1.

b. 25,46 2.

c. dubBigroeSn 3.

d. oo B. RG50S 4.

&: @ ® (o
(A) 1 3 2
(B) 1 2 3
(C) 3 1 2
(D) 4 2 3

AglaSem Careers

5y ~ B

RUSRE
Serddse

ST
e

:"5&5

Perddssel S50
Serddesn

It Do
Perddsde
TN O Sow
8500 aj’.:}‘;’aﬁ
EHOTHT®

) SO0 &0
ool aied OO
@’aﬁﬁggﬂm

(d)
4
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38. Banks show provision for income tax 38, eroes LTahy) HHE Dovoso B
under By
(A) Contingency accounts (A)  esifoisod sreren
(B) Contingent liabilities (B) esifosoy DOod) eressien
(C) Other Liabilities and Provisions (C) 3885380y ergsdes, Jomtw
(D) None of the above (D) 529 s

39. Banks should transfer the following 39, ergotes e DS TEHY TEPOD TGS
percentage of profits to statutory Beatingss Sodhowd
reserve

(A) 207508 wdio THor

A) Not ‘ % |
(A) Not exceeding 20% (B) B0 20750

B) Atleast 209
(B) east 20% ©) 207

20%
(G020 (D) 3%

(D) None of the above

ol : 40. 538
' 40. The following is not the function of RBI P05 ©90dai00 Bexting ergotd AR 570

1. Currency issue 1. Spwd
2. Credit control 2. 3058 Joxoge
3. Supervision of Banks 3. ergoie HopEe
4. Regulation of Banks 4, oo Eondss .
5. Auditing of Banks 5. eroHeio esden Dok
(A) 4and5 (A) 4508050 5
(B) 3,4and5 (B) 3,480 5
(C) 4only (C) 4 s
(D) 5 only

(D) 5 srEdo
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41. Match the following : 41, eB3G8ED
a. IDBI 1. 1982 a. 1DBI f. 1982
b. NABARD 2. 1935 b. NABARD 2. 1935
c. RBI 3. 1994 c. RBI 3. 1994
d. ICICI 4. 1964 d. ICICI: 4. 1964
Codes:(a) (b) (c) (d) §&: (a) (b) (c) (d)
(A) 1 2 3 4 (A) 1 2 3 4
® 4 1 2 3 B4 1 2 3
C 4 3 2 1 (C) 4 3 0 g
@ 3 2 1 4 ®3 2 1 4
42. Match the following 42. =5 (Q
a. ICICI 1. Investing 1. eyed bepe
b. HUDCO 2. geﬁ;o:r:.l:ntg (bh:gQﬂUDCD —2, 15050
c. GIC 3. Insurance Q.Q) G s > S
d. ECGC 4. Trade \(15‘ S EESE & %2 g
Codes:(a) (b) (¢) (d) \Q)Q £6: (@ (B (0 (d
A 1 2 3 4 (:b' —(A) 1 2 3 4
® 4 3 2 \$\$’ ®4 3 2 1
(C) 2 1 (C) 2 1 4
@ 1 2 4 3 (D) 1 2 4 3
43. When exporter has agreed to give 43. 258 SRS @Ny FHeEes
credit to the foreign buyer, he draws AOBBTEE @ohisdod evc o
bill of exchange called . 5000 ey FT° e
(A) Usance Draft (A) QBarSy SR
(B) Sight Draft (B) &6 Soodronone
(C) Bill of Lading AC) Toeerd Sigho
(D) Demand draft (D) ma‘ﬂi
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{0

44. Power Distance Index (PDI) of 77 44, 5008 sk 56.5 8 50T erssded
compared to the world average of

2056 5@.5;, W 77 (rdotond
56.5 for India indicates

(A) High level of inequality of power (A) SSressnd” 43, Soseo Sty ey
and wealth within the society o edSotooghion
(B) Low level of inequality of power (B) wssressass® ¥4 doxeso Hacs; S,

and wealth within the society
e.':);cm SRR BLINY
(C) High level of political corruption
C) & Jroo eddS
(D) Low level of Human ©) 2

Development Index (D) 8555 Jox SrES el wrd

45. Match the following list of World Bank
administrative set up

@ L‘;&ﬁq%@ﬁﬁb NGB 9BS DowoPHod

E::@ffoaw
List-1 List-ll (06@
a. Board of 1. 7Members ‘D'Q)\ bt D51l
Governors h
,&(o a. Mggsg y 1. 7 R0
b. Board of g Mernp& 5
Directors (:b' o SRR o 21 Rebye
c. Permanent 3. g@émernnr C. Sdoderosd 2 3. elNSGD
Member of @ TS o0
World Bank
d. S5%ng §"§J)€:o—5 4, 530
d. Advisory 4, 5 Members =
Council (A) 1-a, 2-b, 3¢, 4d

) T8, &h, S0 dd (B) 1-c, 2b, 3d, 4a °
(B) 1-c, 2b, 3d, 4a
(C) 1-d, 2« 3a, 4b
(C) 1-d, 2, 34a, 4b

(D) b, 2, B3a, 4d —(D) 1-b, 2-¢, 3-a, 4d



http://careers.aglasem.com/
http://careers.aglasem.com/

46. LIBOR means
(A) London Interbank Bid Rate
(B) London Interbank Offer Rate

(C) London International Banking
Rate

(D) London Inter-banking Original
Rate

Read the passage and write the
answers for the question from 47 to 50.

The XYZ Co. is a toothpaste manufacturer
and marketer across India. Its sales are
Rs.1000 crores out of Rs.10,000 crores in
India. It's competitors are many in number.
Neemstick and Ayurvedic powder are also
being used by customers. The toothpaste
market is varying in their characteristics and

buying behavior and hence dividing the \(o

market into different small markel§®
recommended. However, since, J(@%n.
can not serve all the markets, i&\éle\cted
only few markets to serve fixed the
locus of the product offer in the minds of
customers markets.

47. What is called the sales of Rs.1,000
crores of XYZ Co. when compared

to Rs.10,000 crores of sales in India.

(A) Sales share
(B) Industry share

(C) Market share
(D) Micro market share

19

o
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L0

46. &5 enme
(A) London Interbank Bid Rate
(B) London Interbank Offer Rate

(C) London International Banking

Rate

(D) London Inter-banking Original

Rate
Sod T VW FHee 47 Wwod 50 W%

BETEEO ERO0E0

XYZ 500 of réday ai@odd Sodakn
Sty e3oh Bk, sodaxrs™ &, 10,000
?&g ey Z Mh @é)as‘m tﬁ?_:_.'l ,000
Sy BT 2000 Hedotesy. 076 bipd
Jextn B Heev, saxdss FEthes LrE

KO0 TR, QPSDRY 5705
&) DDPRIDO 5085, 770 Gy, OFFTOD
2063 D0 T &0¢i00 D B2 B85 DG I
5070, 07T DO DI DADERB. DB
DR0:5591e38, XY Z Ho2) e 55°8),£25> doiseio
05050 TS, 298 DAAIPHTES 50508’ S99
Do), SoToBss HAREBIAN0L £

i,
(=53

5790,£25950 SPE0 MRTRB.

47. 30d0r&™d &». 10,000 §% esosted”
XYZ £0wd gy ¢3.1,000 §'¢
GBSO D0 DO ?

(A) eSosroT®
(B) 3830 er

(D) Sorg,sopeITer
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48. Dividing the toothpaste market into

various small markets is called
(A) Differentiation
(B) Diversification
(C) Segmentation

(D) Division

#9. Selecting only few markets by XYZ
Co. is called

(A) Market targeting
(B) Market segmenting
(C) Market differentiation
(D) Market diversification
i0. Fixing the locus of the produet in the

minds of selected marketby XYZ Co.

is called

(A) Market targeting

(B) Psychographic segmentation
(C) Standardization

(D) Positioning

48.

49.

50.

AglaSem Careers

erSag SI0eIN0 DG D) ST LR
TR0V JO° 90T

(A) 206 65

(B) x50
(C) oD
(D) erhstes

XYZ 502 §3y S30) L350 S5
DNNE T S WOLTED

(A) @30T 10D DeYEO
(B) 507065 90t
(C) 500,583 ey
(D) =55Tpe5 3650

S99 g, Soreswon XYZ S0 &3
DT $05:500° (SIRED DO

0L 0

(A) Sl roBAtio
(B) X0°500% 9odéd

©) s

(D) 2re=Qoh
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